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1

{H%'C %} 1= |C =in order to be able to win

* H%'C% <plain- style nonpast-affirmative> of H%T X9 (be able to win, can win) which is the
potential-verb of H#E £9 g1 (win)

* [plain-style (but, ‘da’ of {na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]
fc®IC =1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the benefit of) ~

<purpose>

2
o
{B5 T3} &5 IC =so that (X) is able to win
* [dictionary-from / nai-form] & 3 [C = so that (X) do / don’t do ~

3
)
{B5 T3} Z & I =for (the purpose of) being able to win
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).

4
N M

{5 T3} HIcWN 1T > BETS #T2WTT = It looks like that (X) is able to win

* [plain-style (‘da’ in [na-adjective / noun] da’ must be left put.)] #7cWL\ T3 = It looks like that ~

L& W N L&SFABDW A

h & S
SED REBI(C H#T% LDl E‘;‘-E/E ERDET, =
will do my best so that | can win the next match (game)

- \]>N

{i'é W} Z>5% 73\ = It doesn’t looks that (X) buy
BUW Z5%H 72\ = It doesn’t look like that (X) buy = <plain-style-nonpast-neegative> of i'éib\
% 2 T9 (Itlooks like that (X) buy)
* [masu-form] &> T9 = It looks like that ...
* [masu-form] &5 Tldd D £ A = It doesn't look like that .....
Zo520»HDFEA
Z2ICHbHDFREA
Z2HHDEEA
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m

{EZ} Z 2% 72\ = It doesn’t looks that (X) can buy
BZX £5%H 72\ = It doesn’t look like that (X) can buy = <plain-style-nonpast-neegative> of

EZ %> T9 (It looks like that (X) can buy)

* iéii@“ = potential-verb of éb\iﬁ“ g1 = be able to but, can buy

* [masu-form] > T9 = It looks like that ...

* [masu-form] Z 5 Tldd D ¥ A = It doesn't look like that .....
Zo5U»HHEEA
Z2ICHbHDFREA
Z2bHDFEA

(AFS bl Ew>5b&5 BARA Fe5 L\x_

S0 o BF T IE. AE BT BAO RiE BX 255 B, =

It doesn't look like that | can buy my own house with my current little salary no matter how many
years | work.

s

* @B\ T 6 = even if (X) work
* [te-form] B = even if ~
* [question-word] ~ + [te-form] © = no matter ~

13

1

Le350 -
o F5IC
2

b_i5bl,\ £ » Wn
kD BAEIC
3

Le550  @h
SfD il
4

L&d50

KD Z & T =because of the matters (things) in the future

A TEIE. IIEEA TREV R, =

A: Mr Yamada doesn't look fine recently.

* LTLEA%E L\ = be not fine = <plain-style-nonpast-negative> of ;_c’éu(b\) » D XTI (be fine, be
healthy, be cheerful)

)

B "5 he J9RD & THATE 5L &o J =
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B: Yes, what you have said is correct. | hear that he is worried about his future, and | think so
too.

* '|“’/u'(%> b b LY = | hear that (X) is worried

* 'I“’/u'C% I“’/u'C L\ % = <plain-style-nonpast-affirmative> of ]“’/U'C‘ LE 9 = be worried now,
be troubled now

* 'T‘Sé’%i? g1 = be worried, be troubled

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 5 L WL T9 =1 hear (heard)

that ~ and | think so too, It seems that ~

fo fa o

e & A + H' <subject particle>

2
fo 7 p

HA & A T = by means of Mr Tanaka, because of Mr Tanaka, inside Mr Tanaka

3

fo 73 fo 18,

HPZTA>T=HFZTA EWS D & =the person called Mr Tanaka

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* We often use ‘~ &W5 D & (~ > 7T) to indicate what we don’t know before asking a

question

4

1z 75 B

HPE A TH =even Mr Tanaka

e i

A ThZ, HRSA-T EAR A’?J
A: Excuse me, what type of person is Mr Tanaka?

LAED

B reTH BYIT LWWAK o |
B: He is very kind and he is a good person.

_l.;_/u‘l'i‘? E_lu‘t’i") .
*FYT =8k, LT, =(X)iskind and ....
LAED LAtD

* FYI7Z = <plain-style-nonpast-affirmative> of FY1T9 = (X) is kind
* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] <’ is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.
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* In addition to ‘[stem of i-adjective] < 7T’, [stem of i-adjective] < ’is also used to be more
formal.

(O3 [ox<
* L\ A T2 = <plain-style-nonpast-affirmative> of L\W\ A T3 = (X) is a good person

ES
WD dD [IC D = before one knows

2
LND =when

3
LD TH = anytime, whenever it is

4
Wwo Hh

WDMD =someday FH = the fifth of the month

A CHRERRITIE E5 ot 7 =

A: How was your trip to Okinawa?

*ES 2o ? =plain-style of £ TUchH = how was ~?

EhE< T, BB EHL< T BBk & =

B: The sea was blue, the food was very nice, so it was supreme.

*%<T =%b\97—{:0 Z U7, =(X)was blue and .... \

* %7’3\9 fc = was blue = <plain-style-past-affirmative> of %L\T“"@‘ (be blue)

* %ﬂ%b <T= %ﬂ%bb\a fco Z2ULT. =(X) was delicious and ....

* %DEE L H > fc = <plain-style-past-affirmative> of %ﬂéﬁ L WT 9 (be delicious)

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘[stem of i-adjective] <’is also used to be more
formal.

1) 1T}

* k12 o o = was supreme = <plain-style-past-affirmative> of &/= T3 = (be supreme)

bl wsg wn
A TWWEH, Fhd WO —E ToT HlcW B 1 =
A: That sounds so good ! | also want to try to go at least once someday, | wish so.

* [plain-style] %23 = <used to show the speaker’s exclamation>
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[AY Ly
* 172> T & T=\L) = <plain-style-nonpast-affirmative> of T> T #& f2\L\T9 =wan to try to go
* [te-form] #E 9 = try to do ~, do ~ and see how
* [masu-form] 72zL\CT9 = want to do ~

[J6

1 {Z N} & AHD =this one or something, the thing like this (N2 P40 No.61)
2 {ZN} EDD =only this, just this, full of this

3 {Z N} /\ =towards this

4 {Z N} T =inside this (existence), to this (recipient), etc

(F/X—hT VP YE RS BDS) =
(while choosing a shirt at the department store)

* [masu-form] 7&HY5 = while doing ~

v ER
WA T2\ ED v YN BRULWAL IFE..o 1 =
Yamada: | want to get a bright color shirt ...... (hesitation)

[E3 23
* MR U L\ ATZ = <plain-style-nonpast-affirmative> of X L LN AL C9 = | want ~, | really want to

say so.
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T9=...... ,  wonder ; ...... :
| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so

; because ...... — A can be changed to .

fo 17

M (fenfed, ChhAn 52 WASA I 2 HES5 e85 &, =

Tanaka: If you say so, (If that is the case,) How about the thing like this? | think it suits you very
well.

* M/\'J = <plain-style-nonpast-affirmative> of M‘W\i@' g1 = suit, match, become, be like
%%
* B> =<plain- style nonpast-affirmative> of ,b\\,\i@“ g1 =think

* [plain-style] & Ub\iﬁ“ = | think that ~

=3 1F
AL L\ = <plain-style-nonpast-affirmative> of & L L\"T 9 = (X) want ~ <the subject is the first

person and the second person>

2
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’%b\o'c L\ % = <plain-style-nonpast-affirmative> of bb\a’c L& 9 = (X) show signs of
wanting ~, (X) want ~ now <the subject is the third person>

* ?S’Kbb“ N F¥9 = (X) want ~ at that moment only <the subject is the third person>

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

3

23 (3

ML %> 7% = adjectival usage of 8kL %5 T9 = It looks like that (X) want ~

* [masu-form / stem of i-adjective / stem of na-adjective] = > T3 = It looks like that ~

4
?:%7\ U HY> T &5 = <plain-style-nonpast-affirmative> of {:L}j’l LA > T A4 FT =try to show signs of
wanting ~, try to want ~

* ?S’be‘\ N £9 = (X) want ~ at that moment only <the subject is the third person>

* [te-form] & E 9 = try to do ~, do ~ and see how

A—/\—T=
(at the supermarket)

FR>EP WE

N Loh <h
B TS, BEFE L FNITILE?) =
Mother: Is the child who bought a snack just now Takeru?

2N m
* B o fc = bought = <plain-style-past-affirmative> of EL\X 9 g1 (buy)
* [noun]? = plain-style of [noun] T3 A" = Is (X) [noun]?

?QJ—( rfi5 Ko HZEI T ,_LL\’C %%?% b?b\o’( (A ? Jrell
Child: No, he is not. He is the one who is crying over there and wants a snack.

%5 <pIa|n style-nonpast-affirmative> of \Ai@“ g1 = be different, be wrong

* 5_LL\T\ = /_L< ZU7T. =cryand ..

* 7_L < = <plain-style-nonpast-affirmative> of ,_Lé x9 g1 (cry)

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it |s sometimes used to show reason as well.

<8R AU D> T W3 = <plain-style-nonpast-affirmative> of b?b\o’c W& 9 = (X) show signs of
wanting ~, (X) want ~ now <the subject is the third person>

* {S’K LAYD £ = (X) want ~ at that moment only <the subject is the third person>

* [te-form] L E 9 = 1 be doing now 2 <situation, state> 3 <habitual repeated action>

* [noun] 72 = plain-style of ‘{noun] T3’ = (X) is [noun]
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P14

[18

1v

KENTH{(EBLW TL&SD)=x

* j%bh’( %t =even if (X) can come, even if (X) come and you have a problem, even if (X =
p rior) come

"EESNET = potential-verb (can come, be able to come), passive-verb (intransitive) ((X) come

and | have a problem), deferential-verb ((superior) come)
*[te-form] KA LW TL & Dh =

[te-form] KB LW TIH =
[te-form] WL\ T H =
May | so ~?, Is it OK for me to do?
* [plain-style (‘da’ in ‘[na-adjective / noun] da’ must be omitted)] TU & 3 =1 Probably ......

2 ... , right?
* [plain-style (‘da’ in ‘[na-adjective / noun] da’ must be omitted)] TU & 3 H* =<lt is used when

asking a question more politely.>

2
WESUP»2TH{KBLWTULELE DD} =x

*W56>UL»>7T H =evenif (X =superior) go/ come / stay
*W5 o U » WX = special-deferential-verb of ﬁ% 9 (go), 5[%?3‘ (come), LK T (stay,
have, there is, exist)

3
ﬂj’(% {KBLWTUL&SD}=May | V|S|t’? /s it OK to V|S|t’?
ShH

(G mi@“ g1 =the speC|aI humble verb of ftr% i? g1 (go), Fﬁ% %9 g1 (ask), —?hiﬁ“ g1
(ask), uﬁhiﬁ“ g2 (visit), nEFnEJ L F 9 g3 (visit), nﬁhiﬁ“ (visit)

4
1775‘11?% {EBLWTUL LD} =x

1775\1’L’C H =even if (X) go and you have a problem, even if (X = superior) go

1773‘11&@“ = passive-verb (intransitive) ((X) go and | have a problem), deferential-verb ((my
superior) go)

MN<EL TAEW BAEW FAZEwS5ULD

B A SHAL W CE R BB OTT A BED R, AED MR = HoTh &
50LWTUL&EDD. =

Students: Sir, | have the thing which | want to consult with you, so is it OK for me to go (come)

to your study room after a class?
%771

Z5Eh
CHEF L 72\ = <plain-style-nonpast-affirmative> of Z#83 L 7=\ \ T = want to consult
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Z5RA

* ZHE# L £ 9 = humble-verb of ;ﬁ%ﬁ L £ 9 g3 = consult, discuss

* %5 DTY =(X) have, | really want to say so

* 3 % = <plain-style-nonpast-affirmative> of ¢ D &9 = have ~, there is ~, exist

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® TY=...... , l wonder ; ...... ,

| doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really want to say so
; because ...... — @ can be changed to A.

BAEW

S TIFWL. WWTT &, 5 =
teacher: OK. (Sure.)

{?%o Ty H T < £\ = Please make (a person) try to go

*1ToT H#ZE X T =make (a person) try to go = the causative-verb of 1%9 T HERT (tryto
go, go ~ and see how)

* [te-form] & E 9 = try to do ~, do ~ and see how

* [te-form] < /£ & L\ = please do ~

2

{’T%")T} HTH LWWTU & Dh =May | try to go? / Is it OK for me to try to go? = more polite
than {?%9 TYHTH LWWTTH

* 'T%"DT HFTJ =try to go, go ~ and see how

* [te-form] #E 9 = try to do ~, do ~ and see how

* [te-form] H LWL\TT =may do ~, itis OK to do ~

* [plain-style (‘da’ in ‘[na-adjective / noun] da’ must be omitted)] TU & > =1 Probably ......

2 . , right?
* [plain-style (‘da’ in ‘[na-adjective / noun] da’ must be omitted)] TU & 3 " = <lt is used when

asking a question more politely.>

3

{?%9 TYHEIETIELLY DTY A =1 want you to make (a person) try to go, | really think so.
*1T> T #SE X9 =make (a person) try to go = the causative-verb of ?%o T HFT (try to
go, go ~ and see how)

* [te-form] (& L L\'T 9 = want (a person) to do ~

* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T9J=...... , | wonder ; ...... ,

I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — @ can be changed to A.
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4
{’T%")T} Hles ESTLLD = ’/[%")T Hles ES TU & SH =Why don’t you try to go?,
Why don’t we try to go?, | suggest to you that you should try to go = more polite than ?%7 T H
fc b ESTIH

TT'JT A XTI =tryto go, go ~ and see how
* [ta-form] 5 &£ 5 TI H = Why don’t you do ~?, Why don’t we do ~?, How about doing ~?, |
suggest to you that you should do ~

HeE W T&SWA

9]
rH’IfElfJ‘b To& ENBWATT A ETH WWEREZE AIDFEAD. 1 =
A: | have been having a headache since yesterday, so don’t you know any good hospital?

Wi

*JEL ATY = (X) is painful, | really want to say so
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9=...... ,  wonder ; ...... :

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — A can be changed to .

C&SWA Ly
B '#>5 T9HZ. ABCERRIC T2 T Hcd E5TUL & Do |
B: Let me see. Why don’t you try to go to ABC hospital? / | suggest to you that you should try to
go to ABC hospital. / How about trying to go to ABC hospital?

(110
This sweet (snack) is made from only flour, egg and sugar. We don’t use butter, milk, etc.

.. © TET WXT =is made (is completed) by means of ....

111

Lw>W5 U I3A

1 11 RF¥F T + (& <topic particle> = until 11:30

CLw>WE U IFA

2 11 BF¥E TIT + [E <topic particle> = by 11:30
Lw>WE U FA

3 11 K¥ETH =even11:30

Lw>W5 U I3A

4 11 BF¥ =x

ML

ST =
(at the company)

P E
ATghaEtA,. ILHSAF ECTID. J =
A: Excuse me, where is Mr Yamada?

DNEEDS w305 U lFh

B LUAS A ABdcT 1. 2z 1 BLETic 3 8&b3 & BEd £, ) =
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B: Mr Yamada is at the meeting now, but | think that the meeting will end by 11:30.
‘ﬁ’i‘b% <plain-style-nonpast-affirmative> of %5310 N F¥9 g1 =end, finish

(V]
ORF IBE % 5 UL 25 =if | hear that 9 o’clock passes and | think so too, if it seems that 9
o’clock passes (based on what | heard / based on the objective grounds)

2
<L 7
ORF BZ 2 5 L\ DIC = although it seems that 9 o’clock passes

3
9E# % % &5 725 =ifit looks like that 9 o’clock passes, if it seems that 9 o’clock passes

(based on the subjective grounds)

O~
(2

.
RFBE 2 &5 7% DIT = although it looks like that 9 o’clock passes
% % = <plain-style-nonpast-affirmative> of & % &9 sg2 = pass, go beyond, go past;

elapse; exceed
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.] 5 UWLWT9 — | hear that ...

and | think so too / | heard that .... and | think so too / It seems that ... (based on what | heard /
based on the objective grounds)
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] & > T9 — (According to my

knowledge, / According to my academic analysis, ) it looks like that ..... / It seems that .... (based
on the subjective grounds)
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] 7& 5 = if ~ <supposition>

<lt is followed by an expression that conveys the speaker’s judgement or a question asking for
the listener’s opinion.> /
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ®|c =1 although ~, in spite

of ~ 2inorderto ~/

Wb5& =& 5 BB Fh e

B TSH KR Bt BT RS . ) =
Younger sister: Today, | go to eat dinner with my friend and come home.

fe < fe =
* BT K3 = <plain-style-nonpast-affirmative> of /X T 3£ 9 = go to eat and will be back
* [te-form] & E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far
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Hlc

[V on % Thb
o T ol IRIBES &5 @5, WX I 17K 5, BELS Lo 1 =
Elder brother: OK. If it looks like that 9 o’clock passes, | go to fetch you, so call me.

* o h > fc = understood = <plain-style-past-affirmative> of 105D £ g1 (understand)

* ?@hi I ?% < = <plain-style-nonpast-affirmative> of iﬂii I T%?S &9 = go to fetch, go out to
meet

* [masu form] ﬁ% ¥9 =gotodo

* EE.:E L & = Telephone me! = the imperative-verb of E L ¥9 g1 (call, telephone, make a
phone call)

:gb MMFEW ESH K& £S5 £ 7% = It looks like that (X) had better not talk to someone
:% L DMFGW [FSH K& Z5 72 = <plain-style-nonpast-affirmative> of f% L AMFEW ([FS

N & 5 TI =ltlooks like that (X) had better not talk to someone

* % L HMFEW [FSH WWTT = had better not talk to someone

* [nai-form] (E5HY WLWWT Y = had better not do ~

* % L DF X9 = accost a person, talk to someone

* [masu-form / stem of i-adjective / stem of na-adjective] Z> T9 = It looks like that ~

*When UL\ is followed by =5 T9, it becomes &K &

WWZ5TY — K& £57TT (It looks like that (X) is good, (X) looks good)

2
% U MFE<TH K& £S5 £ 75 = It looks like that (X) don’t have to talk to someone
* % U M™MF7e<TH £ £ 5 /2 = <plain-style-nonpast-affirmative> of % L D™MFR<TH £
%> T79 =ltlooks like that (X) don’t have to talk to someone
* % L MMF7a< TH WWTT =don't have to talk to someone
* [nai-form &L\ = 72 <] TH WL TT =don’t have to do ~
* % L HF X9 = accost a person, talk to someone
* [masu-form / stem of i-adjective / stem of na-adjective] €5 T9 = It looks like that ~
*When WU\ is followed by =5 T9, it becomes &K &
WWZ5TY = K& 57T (It looks like that (X) is good, (X) looks good)

3

(37

U DTV [ESH WO Z5 £ 73 =1 hear (I heard) that (X) had better not talk to someone
0 F

*FEU DTV [ESH W FS £ = <plain-style-nonpast-affirmative> of & U HMMFRW (FS

MWW Z5 T =1 hear (heard) that (X) had better not talk to someone

11/17



* % L DMFEW [ESH WWTT = had better not talk to someone
* [nai-form] (E5 A LWWT Y = had better not do ~

* % L DF X9 = accost a person, talk to someone

* [plain-style] > T9 =1 hear that ~, | heard that ~

4
gﬁb MMF7EL<TH WO ZF5 2 42 =1 hear (heard) that (X) don’t have to talk to someone

* % L MMF7<TH WO Z5 2 = <plain-style-nonpast-affirmative> of % L M™MFE<TH Ly
%> T9 =1 hear (heard) that (X) don’t have to talk to someone

* % L MMF7%<TH LWWTT =don’t have to talk to someone

* [nai-form 7&W\ = 72 <] TH WLWTT =don’t have to do ~

* % L DMF X9 = accost a person, talk to someone

* [plain-style] &> T3 = I hear that ~, | heard that ~

B EREh, ET it VWE N ABHBNT, =

Younger brother: Don’t you know where daddy is?

* L\ % = <plain-style-nonpast-affirmative> of L\& 9 sg2 (there is ~, have ~, exist, stay)

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘{noun] da’ must be omitted)] »* = <It can be
used as an indirect-question>

* %b[l 578 \L\ = don’t know = <plain-style-nonpast-negative> of %bl] N 9 g1 (get to know)

% rE o= MBI W FE, TEL 23 Kot &o =

Elder brother: He was in the room a little while ago, but he looked busy.

* L\ /o = stayed = <plain-style-past-affirmative> of L\& 9™ sg2 (stay, there is ~, have ~, exist)
Wweht

*ICUL %5 £ > f = It looked like that (X) was busy, (X) looked busy= <plain-style-past-
WZhH
affirmative> of [CL %5 T9 = It looks like that (X) is busy, (X)
* [masu-form / stem of i-adjective / stem of na-adjective] ©> T9 = It looks like that ~
BESE
B TZ50 UpHBSEBEULNMNIBWIEDIN KE 2512 5. EFZDZ &, HALI o
/u?"i ‘Ij— Eo d

Younger brother: | see. Then, it looks like that | had better not speak to him. | wanted to consult
with him about my next education.

* Z2h =plain-style of 5 TIH, =Isthat so?, | see
LABK
* i_—T— entering a school of higher grade enterlng a junior high school (or university)
* *ﬁ bt Mo fz ATE = plain-style of 7|‘E bt_ Moz ATY =wanted to to consult, and |

really want to say so
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Z5kh 5Kk
* X U 7= H > f= = wanted to consult = <plain-style-past-affirmative> of 183X U 7c\WTY =

want to consult
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9=...... , | wonder ; ...... ,

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — A can be changed to .

P15

82

(114

1 — _

?ELJ%': > T L\ fc = <plain-style> of ?ELJ’@E ¥ > 7T WX UTchH = what were you doing?
*P0OFEI =1do 2 (superior) give (inferior)

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

b

2

%%SEC 5?%7:; L\ = without coming to practice

* 72\ = don’t come = <plain-style-nonpast-negative> of %i@“ g3 (come)
* [nai-form] "C = without doing ~

* [noun] (C = for (the purpose of) [noun]

3
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] M |C =1 although ~, in spite

of ~ 2inorderto ~

4
55 &$H =not at all, not one bit, on the contrary, vice versa

5WLp> LHW nAlLe> Z 2T
ATHB, S8 2Dl 5o&H BEBICKLBWT iz PoT We ATID 1 =
A: What were you doing without coming to practice at all although there will be the match next
week?
* [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A4 T9=...... ,  wonder ; ...... :

| doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really want to say so
; because ...... — A can be changed to .

B rg_&i-t“:/bo 1 =
B: | am sorry.
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1
U Uhh
Bi % % IRffE = the time when it closes
U 9]
* BAE % = <plain-style-nonpast-affirmative> of EZX D £9 g1 (close)

2
BH
ES N5 =Dbecause (X) is wrong / because (X) is different
58 X

5h
* &> = <plain-style-nonpast-affirmative> of 2\ \& 9™ g1 (be wrong, be difference)

3
T & o 7T = (be done) by (a person) / because of .... / by means of .... / according to ... /

some .... (N2 P6 No.13)

4
Y = <subject = the performer of the action>

(A) IF (B)h" (adjective) — describing characteristics

(A) DY H D FT / WET =thereis (A), have (A)

(A) M OMDFRIT /WD ZERT / TEXTJ =understand / need / can do (A)
(question-word = subject) H¥ ~ ?

but

U‘U}mab\h &S5 9] U A N \5__3 - FE eI
O EMEEF EH IcL->T FAFXS KEE D ES DS %" T Eﬁwbﬁ_ E5HY WL Ko
The closing time of that museum differs from day of the week to day of the week (differs
dependlng on day of the week), so you had better confirm at the ticket window.
* Tﬁwbﬁ_ IE5HY L\ = <plain-style-nonpast-affirmative> of #EZ2 L 7= (5 HY WWTT = had
better confirm
MICA MICA

* HEFR U T2 = confirmed = <plain-style-past-affirmative> of f52 L &3 g3 (confirm)
* [ta-form] (£S5 HY LWWT T = had better do ~

Z & = Basically ‘koto’ is used to make a noun phrase (is used to change a verb to a noun).
¥ = <subject = the performer of the action>

(A) & (B)h" (adjective) — describing characteristics

(A) D HBD XTI /WET =thereis (A), have (A)

(A) DX oD XT /WD KT / TEZFTI =understand / need / can do (A)

(question-word = subject) H* ~ ?

but

14 /17



2

feWAA

KE
feWwAh

KZ means ‘awful, terrible, dreadful, horrible; hard, difficult’ and it is a na-adjective. Here there
fcWA A TcWAA

is 7& right after K%, so we must have a noun right after XZ 7.

3/4
‘(X) & (or hY) E AT I ~ HVis used show admiration (wonder, enchantment, sign) and it

means ‘What [noun] (X) ..... I’ or ‘How [adjective] (X) ..... I’ (N2 P95 No.159)

feWAA

U &R A AR 2< £ W PE W zre

B THEXZFo T HA T ERULWEXZ BT 2D EARIC XER &b bhD
XUl =

| tried to make vegetables by myself and | knew how difficult growing delicious vegetables is!

(X) D (Y) = (X)’s (Y)

(Y) on / about (X)
(Y) from / made in (Y)
~ (D =~ one, ~ thing

2
Fh
i = other, another one

3
IC = <the exact when the action takes place> at 6, on the 15th

<recipient> give it to my friend

<source> get it from my friend

<existence particle> There is a book in the classroom.
<in the passive-structure> be done by someone

<in the causative-structure> make someone do ~

[na-adjective / noun] (T 7% D ¥ 9 = become [adjective / noun]
[na-adjective / noun] IC UL ¥ 9 = make ~ [adjective / noun]
[noun] [ U E 9 = decide on [noun], choose [noun]

4
M5 = from [noun] / Because [sentence]

S

ZhE S
ATSED LRSS NN—FT4—T AABTI]S WF ZNT WVWWTIH, 1 =
A: Regarding the song which we will sing at the next farewell party, is it OK for you with this?

15717



57 25
* 3R> = <plain-style-nonpast-affirmative> of #XL\K 3 g1 = sing

Fh

B IIaEthe 0 MIEFE B ATT A, DLELLWTT 25 1 © & LT ELLT
9o 1 =

B: I am sorry. | like this song, but it is a little difficult, so | want you to decide on any other song.
* <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes
‘na’ )] A T9=..... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to
emphasize ; ....., | really want to say so ; because ...... — A, can be changed to ®.

* [te-form] (F L L\'T 9 = want (a person) to do ~

L 7L\ = <plain-style-nonpast-affirmative> of L 7cL\"C9 = want to do

2
P D 72\ = <plain-style-nonpast-affirmative> of D 7c\\T9 =1 wanttodo 2 want to give

3 want to give a favor (to a person)
*PD XTI =1.do 2. (A superior) gives (an inferior).

3
P 5ET =te-form of PS5 F 9 = let (a person) do, make (a person) do

4
b
& B S Z & =the thing which (X) think, what (X) think
iFax‘-)
* 5 = <plain-style-nonpast-affirmative> of ,ub\iﬁ“ g1 = think

TWEA EH

BE. FHA T/ E BN L E EWBLE, =
Recently my child stared to say that she wants to learn how to play the piano.

* _L\ 12 U fc = started to say = <plain-style-past-affirmative> of _L\ .':I:'. U &9 =start to say
* [masu-form] 72U ¥ 9 = start to do ..

Rk, FHA Lt £ B85 2o i3 AT PO W & BoT Wa, =

| am thinking that | want to let my child do what she thinks that she wants to do ((and give a
favor to her).

&b &b
* MDT L% = <plain-style-nonpast-affirmative> of > C L & 9 = be thinking now

,L,\L\i? g1 = think
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>
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